
©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW78053

Large Hexagon Trellice & Bottom Plates

41 /

Large Hexagon Trellice & Bottom Plates
MASW78053



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW78053

Large Hexagon Trellice & Bottom Plates

42 /

kg

kg

kg

kg

kg

kg

kg

kg

kg

x

x

x

x

x

x

x

x

x

1 8042809 Nut, ISO7042-M8-86 0.01

0.012 8008813 Nut, cage M8-t=1.8-3.212

3 SW77997 1170 x 1023 x 5103 24.13

4 8008502 Screw, ISO7380-1-M8x20-10.99 0.01

5 8008445 Screw, ISO7380-1-M8x30-10.912 0.02

6 8008849
Washer, Bolt cap 9x18x2-
ISO4759-3-C18 0.01

12.307 SW99913 1035 x 590 x 602

8 8050049 Washer ISO7089-8.4x16x1.66 0.01

9 8008770 Nut, ISO4032-M8-83 0.01

S18S17

X

S20S19

1          1



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW78053

Large Hexagon Trellice & Bottom Plates

43 /

7

x3
9

x6
8

4
x3

7

x3
9

x6
8

4
x3



©  Playpower inc
hags@hags.com
www.hags.com

Rev: 2

26/10/23MASW78053

Large Hexagon Trellice & Bottom Plates

44 /

6
x12

2
x12

5
x123

4
x6 x6

6
x6

1
x3

3

2
x12

6
x12x12

53

3
x3 x6

6
x6

4

1
x6

MASW78536

MASW78714


